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(ii) Mixture F contains all the three ions. On the diagram show the chromatogram of F. (1mk) v

(iii)Comment on the ion N in the diagram. (1mk)
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ns and chloride 10ns__@ve»@test-on-hﬂ
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Dilute hydrochloric acid
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J air according to the equation below.
s i 1302(3)-—> 8 C02(8)+ 10H20(|)

1at volume of butane must be burnt in oxygen to give 11 g of carbon (IV) oxide at
volume at r.tp= 24.0¢; C= 12; 0= 16; H=1.0) 1

| R Y i i

__QO(:QE‘)(&LLP
/
= [ S/,é(/(f‘ré‘,

= et 2
When magne'ﬁum ribbon is burnt in air, two compounds were formed, one of which is

magnesium oxide:
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